Homework #6

ENCE 302 - FALL 2001
Due M, 10/22

Problem 1:
Textbook: 3-32

Problem 3-32.
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= 0.000454 + 0.00227 = 0.00272

Problem 2:

Textbook 3-37
Problem 3-37.
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(c)  P(X<320X>5D)=P(X <32)+P(X>51)=P(X <32)+1-P(X <5])
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= 1-0954486 + 1 — 0890651 = 0.154836
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L 65 L65)
0.77935-1+0.77935= 05587
(e} Find x such that P(X>x)=0.05. or

. x—=43)
0.05 = E-‘I}[ , . Therefore, v =43+ (65D (1- 0.05) = 337"

(f) Find x such that P(X < x) = 0.01, or

_ (x —43) "
0.01 = qx[\ o ," Therefore, T =43+(65D7(0.01) = 2786

Problem 3:
Textbook: 3-39

Problem 3-39.

lr, = 2650, or, = 700,

: 2
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o, =02597
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iy = Inits,) =23 = In(2650) - 210; = 78486

P(2700< R, < 4000) = ¢(1n 4&]0—?3486‘}_¢(ln 270078486 )
02597 02597

D(1.72) — D(0.20) = 0957284 — 057926 = 0.378024

]

Problem 4:
Textbook: 3-41

# of hurricanes for all years = 4+2+1+3+0+2+...+ =30

- 30 _ ) times
15 year ~P(X >1)=1-F(1)=0.1353
x)=he™ =2e7
f( ) Return Period = 1 = 1 = 0.5 year
Fo(x)=1-¢™ A2
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